MIMO-TDD

MIMO-OFDM

#1 11
Precoder N :
- Detected
Stream 1 o—»| . . 0 Symbol 1
* Linear ° . : :
. | Processor BN H s #Nal LD .
""" o { Detected
Stream M 0~ e Sjr:t():oTM
é Frequency Response
mE) |BER |
: BER
BER
(
NTT BER
mm) BER
X
i X 2
i
: X
7 ¥
J|:‘ - . iy .
3 |
' X -
M - . i ¥ ;
.x -
% .
x ¥ ®
% X
QPSK "
M=2 x
( 1 2)




MIMO-OFDM

MIMO-OFDM

b(n,i) U(n) s(n,i) V4 y(n,i)
Precoder Gl -
#0 Linear Processor : g g) #Ng | |[Removal FFT a
SV g P (TR0 Y | o o Bia i, i)
ST e[ .
P — _’{ HiT Removal .
Information : ® v o He .
bits siP|: U Ry (n) = (V(n, iyviin, :))
r' T v~ R Estimator H(n) = H(n)U(n)
N e : \ Frequency
Linear Processor, , Response
B b swe i Ne
N : y(n,i) = Hn)U(n) b(n, i) + Hi(n) si(n, i) + n(n, i)
geqém < M: =Hm) b, i) + v(n, i) -
esponse
. ; b(n,i) M
S(n, i) =U(n) b(n, i) Umn) Nr><M Ply(n, i)[H(n), b(n, i)] = N;x
VR deRyi(m) | /
n i Nt exp [— (y(n, i) — H(n) b(n, :))“R;,‘(n) (y(n, i) — H(n) b(n, i))] .
P, P [b(f) N c(i}|ﬁ]
N, [b(i c(i ~ .
P<Y Py Y Nl (l;v_) Ol p [b() > e)1H] b(i)
b) ci=ba) b (i)
Q
J(U) b(i) RO LY ‘
N [b(i) = ¢(d] bGi) (i) ' . VPO o o] R yo —fbo]
o H o
Ny > [v) - Fe)] Ry [y) — He |
P[b(i)]
P [b(f) - c(i)lﬂ] . A B
TSI e o] < Lo
. —_ — —p —_
T U | \ [b) > e@IR] = Serfe, ]
U =U(p-—-1)— 18
P =V =D ==y, . Chernoff p
y i p [b(i) - c(i)lﬁ] <exp (—T")
c(i) o2 = (b(i) — e H Ry (n(h)n' () R H (b)) — e(i))

N N Ny M

Dow(UmUmT) =33 " Ugn(m* =1

n=1 n=1k=1m=1

8




H H
. L. UL : Uplink
TDD  Time Division Duplex DL : Downlin

Frequency

—— oo [T
= | :

v(n,i) = Hi(n) si(n, i) +n(n,i) o

Rui(n) = ((Hi(n) s1(n, i) +n(n, ) (Hi(n) si(n, i) +nn, ))")
=H(n)H'0) P, + 071

Time
MIMO-TDD H H H” 1 Rni
< N’.w_l
E‘ = HS'J Rui(n) = A Y v(n,iyvi(n, )| TDD
I ¥ =0 Ns -
[ -\\‘. 2 Rni
MT. z./ BS : Base Station
— MT : Mobile Terminal " " ~H 9
RN[(n) = H[(n) HI (?I)P[ + U!!I
MT BS 9 -
FEEA NI =28 M 2 BER
WET 7T Ny 2 Ru
SAZT T FH Ny 2
TR 1 10° 10°
THROERT 7T Ny 2 10" b : : 1 I O SO
Ny bR M4@~sAay b4, 57—4%:10) fter, =100 [ CIR=10dB 1
/z-'éagjiit QPSK « 102 S— - A T I10.2 [ _—
FFT &A1 > b & 64 @ o b T |8 IR —
BT v ) T 52(75A 2y b4, F—H:48) g Tt i £ R
fmiEl— b 24 Mbit/s ot Lo s etV o208 1] <o T 1
f/\‘/:‘j‘)l/Fﬁﬁl‘Sﬁl‘-j \ 4.0 s - CIR =20 dB
H—=FA o Z—=rg 0.8 us | EuNo 1208 || 107 ENe=t2am
HBebE FIEORREHEFE 100, 1000 s L0 . N -.
EiET 17 AR RETET /L 10° w £10% 10* 10 10" 25 50 7510 10°
BK K75 — Rk f 0 Hz Step size u Number of iteration
“ —JE b
‘ M =103
RI\'I(”) 100
11 12




Rni

BER

Rni

BER

¢ CIR=10dB . CIR=20dB CIR=10dB CIR=20dB
! ' | Tx : Ry MBER 10 { 10° : : : y 10° " ’ !
Tx : Ry MBER : Ry MBE . Tx : Ry MBER
ot Fic + MLD Rx : MLD using @y o't o' o1 MRER R;:MHLD usingRy) 10! _
............ .; - s=10 Tx:RyMBER PO I A Tx : Ry MBER
. 102 b *Ns.'m'! - w02t Rx : MLD « 102 S — e T S— « 102} Rx:MLD
Y — 11 B Tx : Ry MBER u w Tx : Ry MBER
s 10° R St B BT R : MLD uain 8 102 TXCROMBER _ | 8 409 Rx : MLD using
g Ns=20 § . g R‘:MLDU’I" g R [T - -4
e Tx (RUMBER “ 10t b Awinown = j0t 1 10"l Ruknown .
. X Bl . _ =
g | Morz 100 T {RwNBER “§ el lerzio  Ne=20—T — o | Rer.=100 i R 4 [iter.= 100 )
= @ PN = : N m— 10% F Ni= 1 107 FNi=2
CIFl_ =10dB CIR=20dB Tx BEFI i CIR = 10 dB Hs Estimati clu:; =20d8 Tx(BWMBER ™
108 fo=0 i i . 10° fo=0 | Ax : MLD using@a) =~ o[ o=0 | Estimation o[fo=0 R : MLD usin,
10 s . . s i 10 : h . : =
0 5 10 15 20 % 30 0 5 10 15 20 % 30 5 10 15 20 25 30 0 5 10 15 20 25 30
AverageEy/N, (dB) AverageE/N, (dB) AverageEy/N, (dB) AverageEyN, (dB)
Ru)MBER —
MLD using@: Rui MLD H, Estimation Rni
Ry MBER
MLD MLD 4 RLS
4 RLS 4 RLS
13 14
Transmitter
. PACKET g
MIMO-OFDM s | o L H Fecener
o #Ry PACKET
> | Sp | DATA Y L Iot | It | DATA
#Rz
» Chernoﬁ Interference Y o2 | Fee" | DATA
PACKET L
S | DATA Hi
#lz
[ ]
| Sy | DATA Y
2 2 2 1
2 CIR=10dB BER . . . .
tp(n,i) = H(m)sy(n, i) + Hi(n)s),(n, i) +n(n, i)
N 5 N .
” 182 rp1 — (H)pp, (H)ypg
rp2 — (H)pa, (H)p2 . ‘ )
p2 2 2 ‘ 1 H
s - - n n
> oy = (H)2, (H)p (m) Fi(n)
15 rpa = (H)22, (H)2 16




aJ(U)

Up=Up-1) - =g

Up-1

¢ —1 2
d:fc(g) _ _H'RyHU S>3 Nelb(i) = e(i)]exp ( - %’*)A
U 4 b(i) c@+b)

17

Pe=Y Py Y MO = O] [b(ij)\f_’ “OL p [bii) — e
bi) c(h)+b() b

2
[b(t}] Z Z Ne [b(i) — c(i)]exp ( - —)

b() e@)+b)

JU)

2
a,
JeUy=3%" Y Nelb()— c(s)]exp(— —

b(i) ¢()+b() )

2 2
3Jc(U 1 ‘ ‘ 52\ 90
HIE*) Z_ZZ E N [b(i) — ¢(i)] exp (_Tn) 1

G
b(i) ¢()+ba) ‘

18

= (b(i) — (i) U"H"R ' HU (b(i) — ¢(i))
—ur [(b(i) — () (b(i) — e(i))" U"H“R;,lHU]
—tr [H”R;,‘HUAU“]
= (b(i) — ¢()) (b(i) — ()"

Nr Nr M M
= Z Z Z Z (H”R;llH)kk"(U)k’m(A)mm’Uzm’
k=1k=1m=1m'=1

:

30.2 NT M
U Z Z (H”RNI H}kk’(U)k’ *(A)m m
T km =1m'=1
a2
filed
i Hp—1
—oF = H'RG'HUA

) Hp—1
dicé?) _ _H Rzl HUZ Z Ne [b(i) — ¢(i)]exp ( -

b@) e(i)bi)

NG

)a
19

[y - ﬁb(:‘)}“ Ry [v() —Hb()]

> [y(c') — ﬁc(f)]u Ry, [y(f} - ﬁc(i)]

- H —
@) VRG> (AbG) - i) +v0)) Ry (ADG) - i) +v())

(B — i) +vD)) RS (HOG) - c)) +v0)
— (i) — e A" RGA () — c(i)]|

V() Ry A [b(i) — e(D)] + [b(i) — e()" A" Ryg'v(i) +v(i)" R v(i)

. 2

Z*R[(b(s) —c)" H' Ry v(s)] < — (@) —c@)" H'RF' H (b)) — (i)
i

20




n ‘ a.

of = (i) — ¢ H Ry (v(i)v'()) Ry' H (b (i) — e(i))
— (b(0) — e H"RGH (b() — (i)

2N (n) mm) 402/2 = 207}

=2

-

P [b[') cff}lﬂ] _I f_m? xp( X )da
)y = = — [ - == 3
\;4rrnn: e 46';_‘

—o} 29t{n} L o

21




